HERBAZRE B (SN6ER) AXFREE L 4—

IEH ELES T4k THE%=E HE By
HLUERYSAI—X X 500 % 600 1008t AL 3 £
J—RR—/— 15825 A%%/% 1 Ei
I9x G —k 60cm X 20m 20K AY 2 e
[y ARy & WP 5{E ALY [E 3 %

cmmm e | L2HY RI4/k 132 12 ®
N Ve Ty S 4 *
Za—Pl)—on~T =] 1A 3 &
g5 37 1@ 1 &
REIZVNIIT IV H=D0Zvh—115 [ERER/NYIT—X 1& 6 =1
WERA7ILI—I 182 1R 18 E
Fai—5v5 XS 180 158 4 b
ZAZNERNIEY)—T 3KRAY 3/%8 £
—a—FRyE 108 10008 AY 100 X 10/%8 7
—a—FRYE 168 10008 AY 100 X 10/%8 7
—MIILFR SS 100/ A L) /4% 120 £
—MIILFR S 1008 A L) /5% 100 %
IURRAFR(R) S 1008 A L) /%8 25 %
IURRAFR(R) L 1008 A L) /%8 15 %
RS FTVAhIT19k M 1008 A L) /4% 30 %
RUTFOLY 30 ALY 158 6 8
DATA—IL r—2x 100%% X 16/5— 2R 6 r—2
hoR—Hax JIL— 1008t A Y 1 £
NR—/\—%57F )L (Ff#]) r—2 2448 /%8 35 7
<Ry r—2x 1004 X 30/ — R 4 F—2R
R LybR—/— F—2 120—)L X 648 5 5
FAF DT Ay aE SRR 5kg X 3/%8 2 &
GULATAINRTYk R 118 1 &
DPDiR %= REERAE 1008 ALY 3 i
FIVR—RA—F91)—2AK-T 25kg 11& 2 1&
T—A—T74GM 4kg ME/ r—R 12 r—2
F41R—ILT JL— 182 1R 13 b
aAYRRTF—RTL Yk 25@ A Y 4/5—2 3 r—2
aAAYRITF—) R 25 AY 4/4r—2R 3 r—2X
AR AT YRR (F) 5EAY E 7 %
p— AR DAy EER (F) 5EAY E 2 %
AR ATy EER (FR) 5EAY E 3 %
AavyFITS5A+ 108 LAY 1% 2 8
HEH{A MEGA HR2EAY 14 3 9%
BiAN—{FETLFR 13 10/4% 2 %
TIEMNSAY— AR7F33cm 118 10 1&
RSAv¥— FEEFART 48cm 118 10 {&
Y5774 it 10/+vk 1 7k
SER—FT4IL L A3 1004 A Y /%6 1 ]
Ty —k(A) 30cm % 10cm 14 5 "
sk IPP th 118 5 {&
sk IPP X 118 5 {&
{12850 X 15mm VAN 50/1%8 1 et
FHAM [HZE/—k75x75 173K 10/1%8 2 &
BYuL 100 A Y) 1458 2 %
=fBR—LRY N 1R 10 ZN
HAET—h—nN Ty —8 X 1K 10 VN
RIAIR—F <Y —H— 12K AY 155 8 &
I RYMIEREUR AF—ILER 118 5 &
XTI RYI R AERE 118 1 &




IEH ELES T4k THE%=E BE By
~R430 28 AY 15 —2 5 F—2=R
FILaA—)LEDEZHARTL— 12K AY 15—2 1 r—2R
T TN TR T (KIK) 29 118 9 1&
aE—A#fA4 500#% 10/%8 3 &
aE—F#RAS 500#% 3/%8 3 &
AT ITvY 407R 4wk 11 1 i
SIR—hIqILL AL 10041 155 1 &
O—KLAYIR VAN jm = 11& 1 &

EBRR [4RTYY ATFULRSYY 158 2 =)
<—"¥k SHEfAE 118 10 {&
TIRINYR 18cm X 15cm 1488 1 S
hEXS— 400g 11& 10 &
A% 12 1R 1 VN
Y UDIAL=] X 1@ 3 &
Ao —RERANSYT EREREmERR 1A 1 1&
S2kAF—/—1)—X 850ml 158 2 a

ERIE A ERNYY 5458 AY) 15 5 £
EEH Z2H4A4X 12 104 z
BR(EE) EHAR o 14 "
B (/XY) Z2H4X 13 87 "

WA (U= T—F 2)—H 41X 1% 48 [
AT Yk 21— A X (10 A1E 4 ®
ZEH Z2H4X 12 4 Z




